Warm-up
1) 2)

Which set of numbers does not contain 70? Which expression is equivalent to 13x — 2(3x + 6)?

A. integers

- A. —5x
B. whole numbers B. 7x— 1
C. natural numbers C. x+12
D. irrational numbers D. 19x+ 12

3) Between which two integers does 115 jie?

4)
— =84
How many solutions does the equation STl R have?



Warm-up

Which set of numbers[c_-loe.s noi contain 70? Which expression is equivalent to 13x — 2(3x + 6)?
A. integersv’ (dx-bXx -2
A. -5x
B. whole numbers v 7)"’ | 2-
C. natural numbers v~ C. Tx+12

@Tational numbers ) D. 19x+12

3) Between which two integers does 115 fie9

/oz'il—l'é/f

Z 15 & 121
4) 473‘5 ZWL“MZI petiveen 10and

=8+
How many solutions does the equation TR S Rl have?



) 5(x-2)= 8+5x
5x—10=8+5% (ch‘s‘l‘- P“(P)
5x—-5>< -10=9 +Hx-5x CSu,b'ﬁfro'(y-‘J)
-0 % &

no <ol wHon



Daily HW Check:
NS and Equation Review: 5
NS and Equation Review: 12

Go to my weebly to check your answers.



Exponential Form, Simplifying Powers,
and Evaluating Expressions Foldable
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